Table 2 September 2010 estimates of the production of principal field crops — Imperial

	Area		Yield	Production
	seeded	harvested	on harvested area	
	thousands of acres		bushels per acre	thousands of bushels
Canada				
Winter wheat ¹	1,437.9	1,427.9	68.6	97,996
Spring wheat	16,256.7	15,497.6	39.1	606,065
Durum wheat	3,275.0	3,130.0	35.7	111,830
All wheat	20,969.6	20,055.5	40.7	815,891
Dats	2,872.8	2,063.2	72.9	150,471
	7,206.7	6,210.8	61.1	379,320
Fall rye ¹ Flaxseed ²	225.0 1,065.0	220.0 985.0	37.0 21.5	8,130 21,150
Canola	16,684.7	965.0 15,545.7	21.5 29.6	459,895
Corn for grain	2,965.6	2.937.7	145.6	439,893
Dry peas	3,425.0	3,143.0	32.5	102,065
Soybeans	3,613.8	3,596.3	41.2	148,018
boybeans	3,013.0	5,590.5	41.2	,
	thousands of acres		hundredweight per acre	thousands of hundredweight
Dry white beans	125.0	125.0	18.2	2,270
Dry coloured beans	201.1	180.6	16.5	2,973
Summerfallow	12,080.0			_,
	thousands of acres	,	bushels per acre	thousands of bushels
Prince Edward Island				
Vinter wheat 1	4.0	4.0	45.0	180
Spring wheat	27.0	26.0	45.0	1,170
All wheat	31.0	30.0	45.0	1,350
Dats	11.5	11.5	60.0	690
Barley	50.0	50.0	50.0	2,500
Mixed grains Soybeans	6.5 44.0	6.5 44.0	55.0 40.0	358 1,760
Nova Scotia				
Ninter wheat ¹	5.0	5.0	56.0	280
Spring wheat	1.0	1.0	50.0	50
All wheat	6.0	6.0	55.0	330
Dats	5.5	4.5	70.0	315
Barley	6.5	6.5	60.0	390
Corn for grain	13.0	12.5	130.0	1,625
lew Brunswick Vinter wheat ¹	0.5	0.5	50.0	25
Spring wheat	2.6	2.5	35.0	88
All wheat	3.1	3.0	37.5	113
Dats	24.0	24.0	60.0	1,440
Barley	28.0	27.5	50.0	1,375
Corn for grain	13.0	13.0	110.0	1,430
Quebec Vinter wheat 1	8.4	8.4	45.9	386
	6.4 116.1	0.4 116.1	43.0	4,997
Spring wheat All wheat	124.5	124.5	43.0 43.2	4,997 5,38 3
Dats	271.8	258.2	43.2 69.8	5,363 18,026
arley	237.2	234.8	57.9	13,595
Aixed grains	54.4	51.9	56.6	2,939
Canola	24.7	24.7	39.3	970
Corn for grain	889.6	882.2	142.8	125,978
Soybeans	659.8	657.3	41.9	27,558
	thousands of acres		hundredweight per acre	thousands of hundredweight
Fotal dry beans	11.1	10.6	18.7	198
			***** **** ****	thousands of tons
	thousands of acres		tons per acre	thousands of tons

See footnotes at the end of the table.

Table 2 - continued

September 2010 estimates of the production of principal field crops — Imperial

	Area		Yield	Production
	seeded	harvested	on harvested area	
	thousands of acres		bushels per acre	thousands of bushels
- Ontario				
Winter wheat ¹	815.0	815.0	79.5	64.800
Spring wheat	115.0	115.0	53.0	6,100
All wheat	930.0	930.0	76.2	70,900
Oats	85.0	77.0	71.4	5,500
Barley	190.0	182.0	63.7	11,600
Fall rye ¹	30.0	30.0	40.0	1,200
Mixed grains	120.0	107.0	66.4	7,100
Canola	70.0	70.0	45.0	3,150
Corn for grain	1,875.0	1,865.0	151.2	282,000
Soybeans	2,440.0	2,440.0	42.6	104,000
	thousands of acres		hundredweight per acre	thousands of hundredweight
-	tilousatius of acres		nundredweight per acre	nunareaweight
Dry white beans	85.0	85.0	20.0	1,700
Dry coloured beans	55.0	55.0	20.0	1,100
	thousands of acres		tons per acre	thousands of tons
Fodder corn	270.0	270.0	18.5	5,000
	thousands of acres		bushels per acre	thousands of bushels
Manitoba				
Winter wheat 1	240.0	235.0	62.6	14,700
Spring wheat	2,810.0	2.600.0	37.8	98,250
All wheat	3,050.0	2,835.0	39.8	112,950
Oats	530.0	440.0	73.0	32,100
Barley	500.0	415.0	55.9	23,200
Fall rye 1	45.0	40.0	40.0	1,600
Flaxseed ²	155.0	135.0	21.9	2,950
Canola	3,350.0	2,915.0	29.0	84,500
Corn for grain	175.0	165.0	101.2	16,700
Dry peas	115.0	93.0	34.0	3,165
Soybeans	470.0	455.0	32.3	14,700
·				thousands of
	thousands of acres		hundredweight per acre	hundredweight
Dry white beans	40.0	40.0	14.3	570
Dry coloured beans	85.0	75.0	13.8	1,035
	thousands of acres		pounds per acre	thousands of pounds
Sunflower seeds	150.0	140.0	1539	215,500
Canary seeds	25.0	25.0	1210	30,250
	thousands of acres		tons per acre	thousands of tons
Enddon open	FF 0	50.0	45.7	705
Fodder corn Summerfallow	55.0 760.0	50.0	15.7	785

See footnotes at the end of the table.

Table 2 - continued

September 2010 estimates of the production of principal field crops — Imperial

	Area		Yield	Production
	seeded	harvested	on harvested area	
	thousands of acres		bushels per acre	thousands of bushels
Saskatchewan —				
Vinter wheat ¹	190.0	185.0	44.2	8.175
Spring wheat	7,300.0	6,870.0	34.7	238,050
burum wheat	2,875.0	2,760.0	34.8	96,180
II wheat	10,365.0	9,815.0	34.9	342,405
Dats	970.0	700.0	72.9	51,000
arley	2,240.0	1,970.0	52.3	103,100
all rye ¹	105.0	105.0	29.8	3,130
laxseed ²	860.0	800.0	20.9	16,700
Canola	7,650.0	7,050.0	27.4	192,900
Ory peas	2,400.0	2,170.0	29.5	64,100
_	thousands of acres		pounds per acre	thousands of pounds
entils	2,900.0	2,675.0	1218	3,259,000
lustard seeds	280.0	260.0	895	232,800
Canary seeds	285.0	255.0	1132	288,600
Chick peas	150.0	130.0	1370	178,100
	thousands of acres		tons per acre	thousands of tons
Fodder corn Summerfallow	25.0 9,670.0	15.0	12.7	190
<u> </u>	thousands of acres		bushels per acre	thousands of bushels
Alberta Vinter wheat 1	175.0	175.0	54.0	9,450
pring wheat	5.825.0	5.710.0	44.7	255,500
Durum wheat	400.0	370.0	42.3	15,650
II wheat	6,400.0	6,255.0	44.9	280,600
ats	900.0	520.0	76.9	40,000
arley	3,900.0	3,295.0	67.5	222,360
all rye ¹	45.0	45.0	48.9	2,200
lixed grains	150.0	35.0	63.4	2,220
laxseed 2	50.0	50.0	30.0	1,500
anola	5,500.0	5,400.0	32.8	177,000
landa la	910.0	880.0	39.5	34,800
	thousands of acres		hundredweight per acre	thousands of hundredweight
	50.0	40.0		640
Dry coloured beans	thousands of acres	40.0	16.0 pounds per acre	thousands of pounds
lustard seeds	130.0	125.0	942	117,750
	thousands of acres	125.0	tons per acre	thousands of tons
odder.com	70.0	45.0		670
Fodder corn Summerfallow	1,600.0			
	thousands of acres		bushels per acre	thousands of bushels
British Columbia			•	
pring wheat	60.0	57.0	32.6	1,860
Dats	75.0	28.0	50.0	1,400
Barley	55.0	30.0	40.0	1,200
Canola	90.0	86.0	16.0	1.375
Carloia	thousands of acres		tons per acre	thousands of tons
	25.0	15.0	21.7	325

See footnotes at the end of the table.

Table 2 – continued

September 2010 estimates of the production of principal field crops — Imperial

	Area		Yield	Production
	seeded	harvested	on harvested area	
	thousands of acres		bushels per acre	thousands of bushels
Western Canada				
Winter wheat ¹	605.0	595.0	54.3	32,325
Spring wheat	15,995.0	15,237.0	39.0	593,660
Durum wheat	3,275.0	3,130.0	35.7	111,830
All wheat	19,875.0	18,962.0	38.9	737,815
Oats	2,475.0	1,688.0	73.8	124,500
Barley	6,695.0	5,710.0	61.3	349,860
Fall rye 1	195.0	190.0	36.5	6,930
Flaxseed ²	1,065.0	985.0	21.5	21,150
Canola	16,590.0	15,451.0	29.5	455,775
Dry peas	3,425.0	3,143.0	32.5	102,065
Summerfallow	12,080.0	, 		

The area remaining in June after winterkill.
 Excludes solin.